= AH O
N = 0 &8 AF S & Al A
20129 & 20ja LESIH SAIASCIACI D ~ SAIHASFCIACID
SA: ZTAIAECIRI
Mz XEINY(2ELX MY /RNEL Al
CHRl s X ael (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
S AASCIRI D} 8,693,308 5,271,810 3,421,498
< 1,035,000
= 7,658,308
KNG 2EL XML /RS L Al 8,479,248 4,741,230 3,738,018
< 1,035,000
o 7,444,248
K oferae| 3,129,446 2,038,684 1,090,762
< 285,000
= 2,844,446
AR K9y 570,000 620,000 50,000
< 285,000
= 285,000
401 AlEHIZL 20 570,000 620,000 A 50,000
== 285,000
= 285,000
01 A& HI 565,788 613,484 NA47,696
OSHIEZAY 565,788
—8&X 7 ME S 218,416,000 218,416
< 110,000
= 108,416
— &R 52 ¥ Y2 U
287,912,000 287,912
< 145,000
iy 142,912
— O} . K]St OIS28HXEA 59,460,000 59,460
< 30,000
= 29,460
03 A2 20| 4,212 6,516 A2,304
OEHIEZAY 4,212
—E&XP NAEEH
220,000,000 %0.72/100 1,584
—gEIR 52 ¥ Y2 U
290,000,000 %0.72/100 2,088
— Ol . K5 DI2a2H XA
60,000,000 *0.90/100 540
A2 FOU=JAAMY Ha 2,112,400 1,108,684 1,003,716
201 LBt HH| 5,000 3,500 1,500
01 AF22t2ltl 5,000 3,500 1,500
OogetegH| 2,000
— XYL AIY =& S &
100,000 *9H 900
—XEHEAIE JI2EEE ALRIQIGH
1,100& *1,0000H 1,100
O= &l 3,000,0002 3,000
202 04 Hl 5,400 5,184 216
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A SAIAFOAR
HH: XNANL(2ELRNENL/RNALEAl)

el X g2tel (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OZt=s s2 2& 19,784,000& 19,784
Oots =2 &l 24,730,000& 24,730
OH= =2 &l 29,676,000& 29,676
OZcl~otzt &2 STIDAL 49,460,000 49,460
023 =2 &X 19,784,000& 19,784
OLIAN 52 LF 19,784,000& 19,784
o222 =2 g1% 19,784,000& 19,784
O=¢g sz &1 % 19,784,000& 19,784
Ot &2 41X 24,730,000& 24,730
OES SH+2 HH L S2EN
19,784,000& 19,784
Onsz2+ isdgz &2 19,784,000& 19,784
Oz =2 &Yl 19,784,000& 19,784
OEE27 Feld =21 % 29,676,000& 29,676
OLAZFU=SREAIY DX 24
10,000,000& 10,000
otz & 28| 296,760,000& 296,760
ONd& ¥ = waEH| 197,840,000 197,840
OLZFANEE HWE* 296,760,000& 296,760
03 A€ 20| 22,149 10,728 11,421

OFIHNE-M=s2 &HY

30,000,000 =1.08/100 324
OstEH === &H|  40,000,000& 1.08/100 432
Ou= =2 EHl 30,000,000 =1.08/100 324
Oz oStz FAA WA

25,000,000& =1.08/100 270
O=SsSA 2 528 ZF

30,000,000 *1.08/100 324
OL= dY=Z == JHI

20,000,000 *1.08/100 216
OHiEIgz 22 =2 2%

25,000,000 =1.08/100 270
O E0ts &2 FH| 25,000,000 *1.08/100 270
O&= 0t2 etd &l 25,000,000 «1.08/100 270
O™ st ==& 40,000,000 «1.08/100 432
Olfere+ s2 2 30,000,000& *1.08/100 324
Oxgl tEs s22d

25,000,000 *1.08/100 270
OSENsY HUE =s2HE

30,000,000 *1.08/100 324
Oogdd sz22% 20,000,000 *1.08/100 216
OAtdlzs =2 FH| 25,000,000 *1.08/100 270
OlfaltS Y2 tA2EHE

30,000,000 *1.08/100 324




M EAIASCOAR

BE: XYWL (RELXNANL/NHLTA)
chel: Xl ae)
_ _ _ N E
SH-EH . S2(30) - MRAY - BES Ofl & 04 i aon

OYS17 olac o o2 2E

20,000, 0002 *1.08/100 216
O2JI0lg =22 % 20,000,000 *1.08/100 216
OFS-5te HZ=2 HY|

65,000,0002 *0.90/ 100 585
OdlEllS 2 F|

20,000,000 *1.08/100 216
oER0lS =2 |

40,000,000 *1.08/100 432
o2=3 =8=s% & 30,000,000&*1.08/100 324
O=ss s2 L& 25,000,000& =1.08/100 270
OIS HHNT S2EH

20,000,000& *1.08/100 216
OZs =2 &4 20,000,000& =1.08/100 216
ONZ MEHSIY VYE2 AT

80,000,000 *0.90/100 720
OFX s28 &Y 25,000,000& =1.08/100 270
O8N ZEFAT =4

25,000,000 *1.08/100 270
Oyl BEEXE T4

25,000,000 *1.08/100 270
OYa 52 U =HT =3

30,000, 0002 *1.08/100 324
OBIOFS 942! =& 30,000,002 1.08/100 304
Ot s2 2% 30,000,000 *1.08/100 324
OZt=s s2 && 20,000,000 *1.08/100 216
O¢ts =2 &l 25,000,000& =1.08/100 270
OH= =2 &l 30,000,000& =1.08/100 324
O3 =2 &x 20,000,000 +1.08/100 216
OZ2I-51H2 T2 LD

50,000,000 *1.08/100 540
O2AM s2 ZF 20,000,000 =1.08/100 216
022 52 SZX 20,000,002 1.08/100 216
OFg Ot2o HEE

20,000,000 *1.08/100 216
OJbeh €22 X 25,000,000 +1.08/100 270
O=S 8H+2 ZYl L 52EF

20,000,000 *1.08/100 216
ONZ2? Nt2FYR HEE

20,000,000& =1.08/100 216
O==< th== &Hdl  20,000,000& =1.08/100 216
OBE2T 72ld S2EH

30,000,000 *1.08/100 324
OUSTYZ ¥ ==Y

300,000,000% *1.08/100 3,240
OMEY wz=memy

200,000,000% *1.08/100 2,160

_4_




SN

I‘I iH:

Y=}

SAASCA 1t

Ao 2t

NEREIEIEBED]

L/NALEAl)

MNuE o
SA BB H(BH) - HBAY - BA Ofl & o il i~ o Rz
O=SA&2 HE4 300,000,000 *1.08/100 3,240
2ol A STH 2 107,046 110,000 ~2,954
101 Q1214 3,046 0 3,046
VPN EES=T=P 3,046 0 3,046
O 20IHASAE R ALY
36,6902 %124 +832 3,046
201 Y2 Y| 1,000 0 1,000
01 ALR 2l 1,000 0 1,000
LIRS =1 1,000
—OIHASLE BRAINCHS HUADE
250,0002! *1Z 23] 500
—20IHASZY RN L2E
10,0002 *2%5 x257H 500
206 TH 2 3,000 10,000 A7,000
01 T2 bl 3,000 10,000 A7,000
ONOIHASAR Hy| HIZ 72 3,000,0008 3,000
401 Al E 6L 20| 100,000 100,000 0
01 Al Hl 99, 100 99, 100 0
ONOIHASLR A% L 22l 99,100,0009! 99, 100
03 Al& S CHH| 900 900 0
OAOIHASAE M1 L 22l
100,000,0002!%0.90/ 100 900
OIS OeXE AX 200,000 200,000 0
401 Al EHIL 20| 200,000 200,000 0
01 Al& bl 197,840 198,560 AT20
OlISEsl IS BT MX(40H4)
197,840,0002 197,840
03 Al& 2 CHY| 2,160 1,440 720
ODISEsl CIESXBF MX(40H4)
00,000,000 *1.08/100 2,160
AW It 140,000 0 140,000
401 Al EHIL 20| 140,000 0 140,000
01 Al bl 138,668 0 138,668
0% AE It 99, 100, 0002 99, 100
OS= Az =& 39,568, 0002 39,568
03 Al& S CHY| 1,332 0 1,332
O9IE AW MIHE 100,000,000 *0.90/100 900
OS2 AW =& 40,000,000 *1.08/100 432
A 2 353,636 73,440 280,196
2aelHe ) 307,680 61,300 246,380




A SAIAFOAR
HH: XNANL(2ELRNENL/RNALEAl)

Sl AR R (e @
- _ — N e
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
201 YEr2gy| 6,600 6,100 500
01 AtR2t2IH] 6,600 6,100 500
LIRS =1 1,000
—SAHEDE YBY DY
100, 00024 *52 x23| 1,000
osy+g 4,200
—FHEARG B 2
70,0008 %1584 43| 4,200
SEET 1,400,000% 1,400
202 01t 1,080 5,200 ~4,120
01 =L 01 bl 1,080 5,200 A4,120
o=zl HE I 1,080,0002 1,080
401 A2 HIL ST 300,000 50,000 250,000
01 Al&t] 297,840 49,460 248,380
ORo2IHe ZH(HY)SA  297,840,0008 297,840
03 Al& 2 ChH] 2,160 540 1,620
ORzeHE ZH(HY)SY
300,000,0002!%0. 72/ 100 2,160
=018 Hel 45,956 0 45,956
201 Yer2gt| 26,700 0 26,700
01 At 22|t 26,700 0 26,700
SETTER=1 19,700
—HMARE 7Y 1,000,000 * 122 12,000
—J=2E ARIQIE 1, 10022, 0000H 2,200
—IIHE JISRX HIZRY  1,500,0009! 1,500
—HENE By Y 150,0002 102 1,500
—5i0t 2K EY £4E 250,002 103 2,500
osg+g 2,800
—ZHEARS HFALY 70,0002 42103 2,800
o3zl 4,200,0002 4,200
202 04t 19,256 0 19,256
01 2L O1 bl 19,256 0 19,256
O=sola g2 14,256, 0002 14,256
OSNRERLI 2N+ 2He
5,000, 0002 5,000
SANEEZ B 3,877,640 2,535,760 1,341,880
= 450,000
2 3,427,640
II0IFH TAHHANL L 0SB L4 305,640 305,760 A120
201 L Et2FH| 2,400 2,520 A 120
01 At 22| H] 2,400 2,520 A120




SM: SARSCIRD
HE: XL (RELXANL/NALEA)

Sel: SAHEECR 2e (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OYpta=H| 1,000
—CAASANLAD HAALAZE 290
200,000 x1E+53] 1,000
O=aH| 1,400,000 1,400
202 04 Hl 3,240 3,240 0
01 2U0d bl 3,240 3,240 0
OZANHEZZ Ze| gRET 3,240,000 3,240
401 A& HI 220 300,000 300,000 0
01 Al&H] 297,840 297,840 0
OZD| DI SAHEEZ L DIEEX 24
297,840,000 297,840
03 Al& 20HH] 2,160 2,160 0
OFI| OI&d TAHEEZZ & DI=2EXN B4
300,000, 0002 x0.72/100 2,160
CAHECZ X122 300,000 300,000 0
401 A& HI L =20 300,000 300,000 0
01 Al&H] 297,840 297,840 0
OZAHEEZZ X2 (6 S.¢)
297,840,000 297,840
03 Al& 20HH] 2,160 2,160 0
OZAHEEZZ X2/ (6H S.¢)
300,000,0002 *0.72/100 2,160
A SAHEEZ HA 550,000 250,000 300,000
401 A& HI L =20 550,000 250,000 300,000
01 Al&H] 546,535 248,200 298,335
O=0[~0122HA3-1088) T2IHA
546,535,000 546,535
03 A& 201 3,465 1,800 1,665
O250|~0/822H(A3-1088) S22 A
550,000,000 %0.63/100 3,465
StgAlc-NES 22 S 2L 600,000 300,000 300,000
[= 300,000
= 300,000
401 A& HI 2L 20| 600,000 300,000 300,000
[= 300,000
= 300,000
01 Al&H] 596,220 297,840 298,380
OZHIBZ ALY 596,220
— SN AE-IEE 22 T2
596,220,0002 596,220
[= 300,000
= 296,220
03 A& 201 3,780 2,160 1,620




A SAIAFOAR
HH: XNANL(2ELRNENL/RNALEAl)

SRl SAAHEEZ 22 (9 ®2
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OEHIEXZ ALY 3,780
-t A~ ESs 22t E20HE
600,000,000 *0.63/100 3,780
HE0E~23E2 S2H4 500,000 0 500,000
401 A& HIZ 20HYI 500,000 0 500,000
01 Al &l 496,400 0 496,400
O HOttE~2sH2t T2I4
496,400,000& 496,400
03 AI& R 0HHI 3,600 0 3,600
OOt E~2SE2 E2HE
500,000,000& *0.72/100 3,600
FEORAS2 T 2L 500,000 300,000 200,000
401 A& HIZ 201 500,000 300,000 200,000
01 A& HI 496,400 297,840 198,560
OYE~JASH(A2-375) T2ME
496,400,000 496,400
03 A& =01 3,600 2,160 1,440
OYE~JASH(A2-375) T2ME
500,000,000 *0.72/100 3,600
SAHE RGN 233 THAS 50,000 50,000 0
401 AIEHIZ 20HYI 50,000 50,000 0
01 A& HI 49,460 49,460 0
OZAHE RSN A3 THUIHSH)
49,460,000 49,460
03 A€ = 01| 540 540 0
OZAHE RGN A3 THGIHSH)
50,000,000 *1.08/100 540
st &S AIJEA BHIALS 30,000 30,000 0
401 AlEHI YL 2 OHYI 30,000 30,000 0
01 A& HI 29,676 29,676 0
OdEE TAAHEALE FHI 29,676,000& 29,676
03 AI& R 0HHI 324 324 0
OgdE TAHEANLEES EHI
30,000,000 *1.08/100 324
HEA~sEE N2 E20H4 400,000 300,000 100,000
401 A& HIZ 20HYI 400,000 300,000 100,000
01 A& HI 397,120 297,840 99,280
OdA~=sa& 02 E2H4 397,120,000 397,120
03 AI& 2 0HHI 2,880 2,160 720
OBEA-SHED C2H&
400,000,000& *0.72/100 2,880




SM: SARSCIRD
HE: XL (RELXANL/NALEA)

o9l SANECE 2o (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
B =M MR SRR E4 342,000 0 342,000
= 150,000
2 192,000
401 Al S HI 2 2] 342,000 0 342,000
= 150,000
2 192,000
01 Al&t] 339,386 0 339,386
OZHI B E AL 297,840
~SHS-IMEOITAN HEHER He
297,840,000% 297,840
= 150,000
2 147,840
OEES AKX K& S2A(HXU) &K
41,546, 0002 41,546
03 Al& =2 ChH] 2,614 0 2,614
OZHIBEAIY 2,160
~SHS-IMEDITAN HHHER He
300,000,000% 0.72/100 2,160
OEES AKX XEA B2A(HXU) &K
42,000,0002 *1.08/100 454
HAEIR-LHESHADYL CRHA 300,000 0 300,000
401 Al HIL 2O HI 300,000 0 300,000
01 Al&H| 297,840 0 297,840
OZUEIS-HEESE DA T2
297,840,0002 297,840
03 Al& S CHH| 2,160 0 2,160
OZUEIS-HEESE DA T2
300,000,0002 x0.72/100 2,160
e 35,280 35,900 £620
Solzne Jy| 35,280 35,900 £620
201 YEr2gy| 3,120 1,020 2,100
01 AtR2t2IH] 3,120 1,020 2,100
Ogsragt| 1,020
—SBNE SYNYSE 4% M
1,020,000 1,020
o2zl 700,0002! 700
osg+g 1,400
—ZnEnel MoV 4T
70,0002 +52 x43] 1,400
202 04t 2,160 4,880 A2,720
01 2UH0i b 2,160 4,880 A2,720
OS9lzne I L2 2,160,0002! 2,160
401 Al EHIZL 2 CH I 30,000 30,000 0




A SAIAFOAR
HH: XNANL(2ELRNENL/RNALEAl)

col: N2 (Etel: &8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 BlusZ
01 Al&H 29,676 29,676 0
OsZnE | 29,676,0002 29,676
03 Al & 2 CHH 324 324 0
Osegns Il 30,000,000 *1.08/100 324
SAICIRE 2 FBEH 1,001,000 0 1,001,000
= 300,000
= 701,000
TZOIXL ALY 1,001,000 0 1,001,000
= 300,000
= 701,000
201 Yer2H| 1,000 0 1,000
01 Ak 22l 1,000 0 1,000
Oget+g| 1,000
—BBORNQYR IIZLE  2,0008 *50004 1,000
401 Al HILLOHY] 1,000,000 0 1,000,000
= 300,000
= 700,000
01 A&l 993,700 0 993,700
OZHI 2 EAY 993,700
—BEP 4FIIZ ZHAY  993,700,000% 993,700
= 300,000
= 693,700
03 Al & 2 CHH 6,300 0 6,300
OGHI B F A 6,300
—SET AEIIR ZAAY
1,000,000,0002 #0.63/ 100 6,300
A=08 NHIA 82,246 57,446 24,800
A=A NUIA A 73,246 48,446 24,800
101 124t 11,868 11,290 578
04 JIAR2ERSES 11,868 11,290 578
OASSUE %Y 5,934
-Jl=3 36,6009 %12 %120 4,403
—FEU4Y 36,6009+ 12 x4 881
—4eEE 5,283,360 *12.3% 650
OA=EE SIIE= 02 5,934
-Jl=3 36,6009 *12 %120 4,403
—Fggsy 36,6002 *12x242 881
—42E= 5,283,360 *12.3% 650
201 Yer2 Y| 30,722 26,500 4,222
01 Ak 22l 30,722 26,500 4,222
OFIEIES=] 27,922
—AXFI YRUY +4E 765,000% 765
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SN SAASCIT D
HE: NN (FELXNL/NELTAI)
Sl AS0IB AHIA CERE]

[

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
—ABE BAIEA SRUE === (JI=A
) 8,313,000& 8,313
—ANEB ANZN ARUH +48 (52D
= AH) 4,444,000 4,444
—AZDIRT LE BE
20,0003 x20& *6H 2,400
—A==UE &4 #&3tE 5002 +3,0000H 1,500
—dESUE JIERA HIS
25,0003 *10&5+10H 2,500
—AB0I MAFY |ABL
200,000 »5CH*13] 1,000
— A0 HMAEE 250,000 »2CH x52] 2,500
—EZ2H23 HELUXN & LA
100,000 *1CH*143] 1,400
—=SZ2HAE 23 200,000 »1CH*63] 1,200
—d52 d&dae ¥ |X 83
30,000 *10&* 14 300
—QIHUASHIAIAE MMALADE
250, 000& »2CH 23] 1,000
— QI ASHIAIAE HAEH RAE
200, 000& »3CH*13l 600
O=&l 2,800,000& 2,800
202 (44| 10,656 10,656 0
01 =2 U A bl 10,656 10,656 0
OH=R H2RKXel 10,656,000& 10,656
405 RHobFE S HI 20,000 0 20,000
01 AL =S HEH| 20,000 0 20,000
oA=L L2H N Y SE 72
20,000,000& 20,000
ROt A=03 24 9,000 9,000 0
201 gEt2Ad| 3,400 3,400 0
01 AtR2tel 3,400 3,400 0
Oget=gH| 2,000
— 30t A= d2aY dAEH
100,000& *10H 1,000
— X0t A=LUR Y24E ISR HS
20,000 *5& 104 1,000
O=&tl 1,400,000& 1,400
202 (44l 5,600 5,600 0
01 =2 A bl 5,600 5,600 0
OHF0R 2 ALRFA 3,600, 000& 3,600
OYHUE g2 FA 2,000,000& 2,000
F=HEZ M (MEISKI/F==) 171,110 487,630 2 316,520
sE FHEZ M 171,110 487,630 A 316,520
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A SAIAFOAR
HH: =HEH ML (AMESX/FH)

Sl mE FNEY A (e
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
CEFe X8 141,110 171,110 30,000
201 L2 Y| 14,630 14,630 0
01 ALR eIt 14,630 14,630 0
LRS- 8,610
—EASBBHLAY IIZLSE 1, 1002 *9000H 990
—OISC2 AES B 200,008 *50H 1,000
—EAHSBEWLAY TRAED| EL7
250,0002 44 1,000
—2HASS U PLAFHEIBY L2AATF 7
o 200,0002 54 1,000
—FUMSNN, ¥ S 2
150,00021 10 1,500
—EABARML, BUAS SEAFNBE 22
=k 55,0002 %200 1,100
—AEX BEOATLNANLY IBRE
1, 1002 *Q000H 990
—ENYSE ASSHLIA FHI 7L
5002 %2, 0600 1,030
o2g4+g 3,920
—ASAAS SY4LY 70,0002 *172 23] 2,380
—2UINOIRIRE 2YLY
70,0008 %172 13l 1,190
—ZEFuB SHIHIANI 2Y4+Y
70,0002 +52 13l 350
SEET 2,100, 0002 2,100
202 01t 6,480 6,480 0
01 201 bl 6,480 6,480 0
OASHTRY LLRFX 6,480, 0002 6,480
401 Al EHIL 2O 35,000 30,000 5,000
01 Al bl 34,602 29,676 4,946
OAEX BF0A ZLAY 34,622
—Xiota He 34,622,0002 34,622
03 Al& S CHY| 378 324 54
OAEX BF0A ZHAY 378
—Xiota e 35,000,000 *1.08/100 378
402 Q12X+ 0/ 85,000 120,000 35,000
NEESEEES 85,000 120,000 35,000
OFEX &AM X2 750,000 %207+ 7 15,000
OsZE CeFe NSH(LY)
1,000,000 %705 70,000
DEFY AN A 30,000 30,000 0
402 Q12X+ 0/ 30,000 30,000 0

_12_




S SAIASCIAR Bt
o EHBA WA (AE=T/F)
el mE EAHEA HA
SA BB CR(SH) - NRAY - A S Aol e
01 BIZt =28 = 30,000 30,000
O3 =0Ho A4 2= 30,000,000& 30,000
HE2AHUI (S AASCIACIDH) (DIEH/DIE 32,950 32,950 0
JlZ2&Hl 32,950 32,950 0
Jl23| 32,950 32,950 0
201 et A | 13,750 13,750 0
01 At 2teltl 13,750 13,750 0
Ogr=ZH| 13,750,000& 13,750
202 odd| 15,000 15,000
01 =2 U A b 15,000 15,000
SASY (A, MOIL, /38 &4 5)
15,000, 000& 15,000
203 e F=&d| 4,200 4,200
04 EN2ITRFLY 4,200 4,200
ORN2IHRF&HI 4,200,000& 4,200
HRas(ZSAASONL D) (LBHIIHEY/HE - 3 8) 10,000 10,000 0
HEHH K= 10,000 10,000 0
IIsdE=s 10,000 10,000 0
RIISHES 10,000 10,000 0
01 JISEEZ3 10,000 10,000 0
O=d&Z0FHIIS d&3 10,000, 000& 10,000
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